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( Basic Statistics for Economics )

1. Answer the following as directed : 1x7=7

{a) What is the SD of the following series?
o S o R 0
1:0,.010,.10, 10, 10, 10, 10

(b) What does r2 signify?
r? -3 S fo o
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i | (3)

(C} It is i
given that P(A)=0-35 and
o i 5
(g) Deﬁne coefﬁcient Of variation.

PB)=0-
: n(d()e 40. If the events A and B are
pendent, calculate P(A U B). fnae e e

m&zﬁ P(A)=0-35 9% P(B)=0-40 1 3f
A O B 761 Fog 9641 ¥, P(A U B) I I ey

2. Answer the following questions : 2%x4=8

9
' oo fimy e e B
L
(d) If u= 55 e (a) 1f for two aumbers, the AM is 25 and the
1_0 : AL ushthe HM is 9, what is the GM of the series?
value of u?
£ i | i 75! TR T FED 25 = ZA9E T4 9 =,
Uss o EF X =50 =, & 1 G : eggered Mg
IR 2 (b) For a binomial distribution, mean = 7
fe) Coefflcient ol and variance = 4. Give your comment.
determi : ’
as etermination is defined 5 Faot A g = 7 I PR = oI
CEE] i <) T |
CPIEBIS foefiet weres wireat fiegr =72
(bt ' (c) 1 the number of observations, means
(i) 1+r2 and standard dEviations of two series
e 9 are nl, n2; Xl, X2 and 81, 62
() r i respectively, then what is the standard
(iv) None of the above deviation of the combined series?
@799 e way ot G o1 A TR R, ey IE AL
Ch ] “E { w nl: ng; )?1, 5(‘2 ETW 61, 83 ?{11
{Choose the correct answer) i SR @m il @W ST e % 2747 ?
the mean is 5 and the median i (d) State the addition theorem  of
calculate the mode. S probability for any two events A and B.
A% 149 5 o NS Rewrite the theorem when A and B are
A7/341 6 2, T2ETE 111 2 mutually exclusive.
{ Continued ) '
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4
‘& (5)

A HF B Iﬁ,‘( Kt ,
fersr | I IF B w5 % m% {d) The lines of regression of a bivariate
TG forg Afedy 001 e Rafite 2, population are
S 8X -10Y +66 =0
3. Answe 1 40X -18Y =214
r the follomng questions ( :
any three) : Find the mean values of X and Y. 5
© 2 3 A
“ﬂ?m‘m@mﬁwﬁ R SxG=]S TS YEIeT FAIHT 1 ) G
(@) What accord; ' 8X ~10Y +66 =0
Kenda]j Consltig tto Professor Yule ang- 40X -18Y =214
" 2 Itute the ch ki
a1 ideal measyre of Cen;;actensncs 9 X S Y 9 570 W g 4 |
S Yule oy Kend B :
et e I‘lﬁj‘ljl AR AT o fe) g?llsiiitge dx;-;:l;;uzl;i Tnedlan from the )
5)  Define the ma, o1 ] TS 1 14y w1 MR el o «
A random €matica] €Xpectation of
var ( D e that Marks Frequency
aX) =g | var (X). e i
in; R SR 3+2=5 3
s @ UEIEAE ) - fia | BS10 v
3 Var(aX):a‘?.Var(X-)- 10_20 2
¢ A b ; 3
- Wh?tge t():ontauns 4 black, 5 red and 20-30 18
g alls. Three balls are drawn gt = 30-40 22
-y Slackaz r1ls th; Probability of gettin 40-50 21
» e red and one whj
ST 1 s - WW@(;%;WW ; 60-70 10
: REEREC 7 -
?“fw%ﬁﬁaﬁi‘mﬁm gy S - 70-80 3
s
SR B Ry LT AG) 80-90 1

A7/341
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(6 )

I' JKIS =24 tEEj:‘I: 'lllg :l“lESF:C]S(ELIIB Z'EEE)

O 2EPIERY Taq foysy (R e fefisy) -

(@)

{b)

A7/341

What do
ek you underst i
?1str1buti0n? What a:ri b3f !
eatures? i b
" _.827 Fo::‘I a binomial distributi;n
= [/ and variance = i :
¥ i = 11. Give
o nt whether the statement i 3f°ur
e s right
3+4+3=10

? 14917 351 327 29y
ﬂﬁﬁomqwﬂfﬁ?=7‘5{@2f‘i{‘f= Ly
wmwg,@mm%[u 11. Sfehy

Defi i

use;ne partial correlation. What ar

: .and limitations  of . t'he

rorrelatlon? Ifr,=0.98 7, =0 ?farual

23 =0-92 o

s » find the partial correlati ;

: nt between X 2 and X ]

Is held constant. Sl
6+4=10

IR
?fﬁf;w T WAL S ey
s =0.94W 2 3 r, =0.08,
23 =0-92 %, (wrR' X

2

E X, F
3 Bl W‘:ﬁ@ ﬁQ“;{ﬁ
Gl i i @Cn°¢
T X, 29 21 | S

{ Continued )

(c)

(7))

Distinguish  between absolute and
relative measures of dispersion. In what

situation relative measures are used?

Calculate the value of coefficient of
from median) of the

mean deviation (
4+1+5=10

following data :
ik EERCr R ECISS ol 1o ers AL

mﬂe@lﬁﬁ%@%ﬁwwﬁ@wmw
@?wﬁwmmmwwﬁwmﬁ

fasfy =41

Marks No. of students

7 Bg-gard R
- 10-20 2
20-30 6
30-40 12
40-50 18
50-60 25
60-70 20
70-80 10
80-90 74
‘geometric

‘arithmetic mean’,

(d) Define
mean’ and ‘harmonic mean’, and
compare their relative advantages and
disadvantages. 6+4=10
A7/341 ( Turn Over )
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(8)

TG 12y, egaraq
B | vk T T 2o
7 | 3’[?’3 15 w2
] Wofﬁﬁr,—iﬁm g

I ] aww

(e) Prove that Shearn A

coefficient p ig given by the formy]
- ula
G 63 dg=
nin? - 1)

;‘anks. What are the
n‘terpret the case whe
minimum valye

np assumes the

2= 6+2+0=
W@fﬁ; [ qzﬁ:]cww\@c”oﬁp?’ﬁ 10
p=1-.82d%
nn? - 1)

( Confinued )

(92)

( For Science Stream )

( Elementary Econometrics )

5. Answer the following as directed : 1x7=7

“:‘"1"“‘; l'r'll “1" 16T “"1; et I‘*’\‘Bi fﬁ;m :

() The sample mean X is an
estimator of the population mean L.

(Fill in the blank)
siffe{ w1 X (202 @O aeIpIS] FNE T

K.

(=1 32 =79 1)
(b) Testing of hypothesis means testing of
_____ hypothesis.
(Fill in the blank)
e @Rl (2R o el |

(42N 3 <79 )

(c) The concepts of consistency, efficiency
and sufficiency are related to
i) J. Neyman
(i) R. A. Fisher
(iii) C. R. Rao
fiv) J. Berkson
(Choose the correct answer)

A7/341 ( Turn Over )




( 10 )

(aL
Ty, o e |
ISP TR @ e Rofor | o wfeHEers fifge OLS 7T BLUE 91

O (IS T TS Gfdw 2
() J. Neyman
(@) R. A. Fisher

(iii) C. R, Ra
. R. Rao |
fiv) J. Berkson 6., Answer any four of the following questions :2 el
| XEG=

wid & @mmﬁﬁWWﬁm:

@7 =, TS BT ‘hest’ AN | fo el PrRos
best 1 @RI ?

(W= Tedeo 91 Hferea)
(@) Give an analytical meaning of the
{(d) State the condition statement E () =0; i=1 9, .., n, Where
binomial distribution : nger which a u; represents error term in a regression
distribution ends to normal model.

L1 BeEd 1 A9 1G] B oo E(ul-)=0;i=1,2,--l,n,’1"\5ui5rﬂm°f‘@rﬁ_’\s
BT I 2T A | Tt T 2B J a-ww S fapee afffEE <, ST

(e) Calcula e o e €l
distribution of the Varioi Foiegon (b) Distinguish between type-1 and type-11

able X, if errors in testing hypothesis.

P(X =4)= P(X =5),
Testing hypothesis @ type-1 SF type-11

X B9 91
TSR I o T A
. S Al l

PX =4)=P(X =57 | ¥

0 Wl‘]:;ltg is partial correlation? (c) For a binomial distribution, mean = 7
RINE ER e R T : and variance = 4. Give your comment.
(g) Under standard <51 faoim G G = 7 e AR = 4. CSIE
ar :

estimations are saidats Sltl)mptmns» OLS B GEH i

ks o g BLUE, where

A r ‘best’. In what sense are (d) Write two applications of x? test of

significance.

A7/341 x? testd 70! FraelfRe danel ot |

c .
@Contti =z A7/341 ( Turn Over )
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fe} Name th
: he problems that ari i
;s}‘:;matlon of a linear regressl,isoer? 11: cgh e
i n the assumptions of E(u?) = 820 i
(U;u ;) =0 are violated l i
: .
SRS T%;m«f IR 919 T @R T
- <) ;
; QS B(u?) = 82 WIF E(wu,) =0
; =
fSqRa ©% 371 27 | J

What are
the criteri
estimator? ria for a good

uﬂﬁf‘\ﬂﬁﬁf‘mﬁﬁlﬁm‘@f,}w%ﬁ?

Answ
er any three of the following question
S

e R len TGt 2 Tag fora -

(a} If X X2 n a Ialld.()IIl SaIIlp {5
1 gty X iS

fI‘O i i

m an infinite population with Samp}

c

that variance 8%, then show

52 =

S|

S(X - X)2

1Ss2 _a biased 2cf:stimattor of 82, b

_(n{n—l)S ol /=1 Z(X—,)—{)z o

an unbiased estimator 3

Y 9B -

. BT #[91 T A X, Xy, e, X,
Tfoes AfSH 27 W ity X o 2o 52

2, (B (493 @

5=t o
nZ(X_X')Q

{ Continued )

5)(3:1

(b)

(<)

()

(e)

AT/341

( 13 )

o1 52 -‘biased fefia’ G
g2 =(fn-1s* T 1/n-1) S -F)F
unbiased Qg =

Discuss various errors that arise in the
testing of hypothesis.
Testing of hypothesis © Tga @A Rien

oy A - ARG DA

5

What is Poisson distribution? What are
its properties? 2+3=5

'»mwa%ﬂﬁ?mtzrﬁmﬁﬁi?

In a two-variable linear regression

model, show how the sum of squares is
decomposed to obtain the coefficient of

determination.

oo BorAIfE CIE srapee SfEa A3 e
el f@el PR (TR fE (AR
coefficeint of determination ¥ (3 |

Describe the method of maximum
likelihood of point estimation.

R ST s[fRE FRAEO opferol 4 |

( Turn Over )



( 14 )

8. Answer any three of the following questions :

10x3=30

G PRSI Fefenm Tee foe

(@)

(b)

(¢

A7/341

In a linear regression model, for what
reasons is the random disturbance term
included? For the model,
Yy; =o +BX; +u;, obtain the mean and

variance of p by the OLS method. 3+7=10

¢l ATEe =nfEs &7 disturbance term (61
wEEe 9 2W? y; =o +PX; +u; TR
SRFR ACE OLS “afe sl F B A =
2R e <540 |

Prove that ordinary least squares

estimators are Best Linear Unbiased
Estimators (BLUE).
4919 991 (¥ OLS estimators Best Linear

Unbiased Estimators (BLUE) €7 |

What is Student’s t-distribution? What
are its properties? Describe the major
applications of Student’s t-distribution.

2+4+4=10

Student’s t-3%7 7 WA Wﬁiﬂ%? & &
Student’s 3BT A4 TIAANT 2ACAPHZ
T 4

( Continued )

10}

(d)
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What is probability density function?

Define normal distribution and the

standard normal distribution. The
avernge marks in a particular class is
70 The standard deviation is 5. If the

murks are distributed normally, how
many students in a class of 200 did not
receive marks between 75 and 827
[P£Zs0:8w0:2881
PeZs0:6m0:2257

where Z is o standard normal variate]

'2,|.3.|.5::: 10

splfdel o e {0 EPINIE A0 S W
oSS Aberd e (ol | 1A e caen b1
A1 5T T 79 S T fAvete] 6, UM A
DA T @ TS Read 41 2, (92 T
00 8 61 -2 3 R 75 e 82 4 fowte
A A0 S A=

[P<Z<0:8=0:2881

P<Z<0:6=0:2257
TS Z = S AN Lol

{ Turn Over )




( 16 )

(e} Define xz and outline the features of its

distribution. Explain the concept of
degrees of freedom in this context.
Outline how the goodness of bit of a
theoretical distribution can be tested
with the help of %2 statistics. 5+2+3=10

§ 2~ vIE A o TR e Soa e
12 -Reme® degrees of freedom LIERIMOE
4 T | 2 -9 e wifes RemEes Sageel
Eie Nue i ERETEIIRS IR

* % X

A7—5000/341 3 (Sem-5) ECO M 2 (Arts/Sc)




